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5.2 - Triangle Centers

i ircumcenter of AABC, find each missi
1. If G is the circ ISSing measure. a)AD= /S
| b)FC= 7¢

—

y 18
d)AG= 92

e
e)EG:_LZ_’_E e L'VE

a)aR=_SC
bjRZ=_YI

c)XS=_4O
d)zs=_ 4|
eywz=32.5 of 4Teg

[
aymzecML= 0
b) mzMNP =
c)mzNPC=_¢0"~
dyJc=_¢%
eMC = L ?_or {37

a)VT = 2?)
b)YW=_|
c)sX= L2 crm
d)YX=_r0
e)SV=_2L2
5. If G is the centroid of AACE, AG = 26, BC = 44, 6. If Q Is the centroid of AJKL, LN = 72, JP=93, and
and DG = 12, find each missing measure. MK = 78, find each missing measure.
a)GF = ,!," a)LQ= l{g
b) AF=_L[E7 . b)ON=_AH_
SFRCoPe=_1¢ caP=_3[
dyeB=_24 d)Ja=_gL
e)DB=_ % e)Qk=_6gl




